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Answer all questions on three extracts taken from two options studied.

Option A: Homer

Extract 1

(c)

(d)
(e)

Homer, lliad 16.257-274

ol 8 dpa IMatpoxiw peyalnropt OwpnxOévreg
£oTixov, O0@p’ €v Tpwol péya ppovéovteg dpovoayv.
avTika 8¢ oQrKEOOLY £01KOTEG E§exé0VTO

260 eivodiolg, oVg maideg éptdpaivwory €BovTeg
aiel kepTopéovteg 0O Em oiki’ €xovtag
vnmiayot- Euvov 8¢ kakov ToAéeoot TIOeioL.
Tovg 8’ €l mep mapa Tig Te kKIwv dvOpwmog 6ditng
Knon dékwy, ot & dAkipov nrop €xovteg

265 mpooow TAG mMETETAL Kol ApdveL oloL TEKEOOL.
TOV T0Te MUpldoveg kpadiny kai Bupov Exovreg
¢k Vvn@v €xéovto- Pon 8’ doPeotog Opwpel.
[TatpokAog 6’ £tapotoly ékékheto pakpov abooag:
‘Moppdoveg Etapot IInAniadew AxiAijog

270  avépeg €ote @ilol, pvroaocBe 8¢ Bovpidog dhkiig,
wg &v IINAEIdNV Tiuroopey, 0G uéy’ dplotog
Apyelwv mapd vivol kai ayyépaxot Bepdmovteg,
YVv® 0¢ kot Atpeidng evpL kpeiwv Ayapépvwy
fjv dtny, 6 T’ dplotov Axoudv ovdev ETioeV.

ol d’ ... 6povoav (lines 257-258). Outline the three phases through which the
Myrmidons’ attack develops. Support your answer by quoting the Greek text.

List four details from the simile of the wasps. Support your answer by quoting the
Greek text.

Identify the two Greek words that show similarity in the movement of the wasps and of
the Myrmidons.

Write out and scan tovg ... £xovteg (lines 263-264). Indicate elisions where necessary.

Identify the two exhortations of Patroclus to his companions and the two reasons why
they should behave courageously. Quotation of the Greek text is not required.

[3]

[4]

[2]

(2]

[4]



Option A: Homer

Extract 2

(d)

(e)
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Homer lliad 16.377-393

380

385

390

[Tatpokhog 8’ 1) mMheloTov dptvopevov ide Aadv,
T p° €’ OpokAnoag vmo 8 dfoot poTEG EmmTOV
npnvéeg €€ oxéwv, Sippot &’ dvakvpPaiialov.
avtikpd §” dpa tappov vépBopov wkéeg inmot
apppotot, odg IInARi Oeol dooav ayraa dwpa,
npooow igpevol, £mi 8’ "Extopt kéxheto Qupog:
teto yap Paléetv- TOV O’ Ekpepov wkéeg immoL.

WG 6" vro hailam maoa kedawi) PEPpide xOav
fHat’ omwpv®, 6te AaPpotatov xéet Vdwp

Zgbg, 6te 81 p° AvOpeTOL KOTEOTAUEVOG XANETVT),
ol Pin eiv &yopf oxohag kpivwot B¢potag,

¢k 8¢ Siknv é\dowaot Be@v Oy 0Ok dAEyovTeg:
TOV O¢ Te mavTeg pev motapol TARBovot péovTeg,
TOANAG 8¢ KAITDG TOT™ dmoTunyovot xapadpal,

€6 8" dha mopupEnV pHeydAa oTEVAXOLOL pEovoal
&€ Opewv gmkap, uvobel 8¢ te €py’ avBpwnwyv:
¢ inmot Tpwal peydala otevayovto B¢ovoat.

Identify two behaviours that indicate Patroclus’s heroic nature in the fight. Quotation of
the Greek text is not required.

[2]

T p ... Buudg (lines 378-382). Describe the chaos of the battle. Support your answer
by quoting three details from the Greek text.

[3]

Identify the two elements in the extended simile of the storm (lines 384-393) and their
respective actions. Support your answer by quoting the Greek text.

[4]

Explain the reasons for Zeus'’s anger in lines 386—388. Quotation of the Greek text is

not required.

Translate moAA&g ... avBpwnwv (lines 390-392).

[3]

[3]

Turn over
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Option B: History

Extract 3 Herodotus, The Histories 1.30.2-5

10

(d)

(e)

Oenoapevov 8¢ v ta mavTta Kol okeYdeVoV OG of Katd Kalpov Ny, eipeto 6 Kpoioog tade.
“Eetve ABnvate, map’ Nuéag yap mept 0o Adyog amiktal TOANOG kai 0o@ing ivekev Tig ofG Kal
TAQVNG, WG PIAOCOPEWY YAV TTOAATV Bewping elvekev EmeAnAvBag: vov Gv émelpéoBat e iuepog
¢niAO¢ oe €l Tva 10N mavtwy €ldeg OAPrwtatov.” 6 uev EAmiCwy elval avOpwnwv OAPLOTATOG
Tabta énelpta- ZOAwv 8¢ ovdev boBwmevoag AAAL T® £0vTL Xprodpevog Aéyet “@ Pacthed,
TéAov Abnvaiov.” anobBwpdaocag 6¢ Kpoioog 10 AexBev elpeto émotpepéws: “koin Or) kpivelg
TéAov eivat OAPotatov;” 6 8¢ eine “TéENAw ToDTO UEV TG TTOALOG €D NkovoN G TTaAideg fjoav kKahol
Te kayaboi, kai o@t eide dmaot Tékva EKyevopeva Kai TavTa mapapeivava: todto 8¢ tod Piov €0
HKOVTL, WG Ta TTap ™ UV, TEAeVLTH) TOD Piov Aaumpotdtn éneyéveto- yevopévng yap Abnvaiotot
HdxnG TPOG ToLg doTvyeitovag €vEANevoivi, fondnoag kal Tpomiy o oag TdV moAepiwy
anéBave kdAAoTa, kai gy ABnvaiot dnpooin te EéBayav adtod 1) iep Eneoe kal Etipnoayv
HeydAwg.”

Eeive ABnvaie (line 2). Comment on the meaning of the word &eivog in this
specific context. [3]

map’ Nuéag ... émeAnivbag (lines 2-3). List four reasons why Croesus has great
respect for Solon. Support your answer by quoting the Greek text. [4]

TéNw ... éneyéveto (lines 7-9). List four reasons, found in the extract, why Solon
considers Tellus the most fortunate of men. Support your answer by quoting the
Greek text. [4]

wg ta map’ Nuiv (line 9). Define this expression and state its relevance for
Herodotus’s narrative. [2]

Identify two ways in which the Athenians honoured Tellus. Support your answer by
quoting the Greek text. [2]
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Option B: History

Extract 4 Herodotus, The Histories 1.37.1-38.2

4.

10

(@)

(d)

(e)

Aéyel TpOG adTOV O venving tade. “@ matep, T& KAAAOTA TTPOTEPOV KOTE Kal YEVVALOTATA LIV NV
€¢ Te TOAEPOVG Kal £G dypag @ottéovTag eDOOKIUEELY- VDV 88 AUPOTEPWV e TOVTWYV ATTOKANiCAG
gxelg, obte Tiva Sethinv pot taptdwv obte aBupinv vov te Téotoi pe xpr) Sppaot £G Te ayoprv Kai €€
dyopfig gottéovta @aiveadal; kolog pév Tig Toiot oA tnot §o&w elval, kolog 8¢ Tig Tf) veoyduw
yuvauki; Koiw 8¢ €xeivn §6&eL dvOpi ouvoikeetv; €ug OV o 1 péteg iévat €mi thv Onpny, j Aoyw
dvameloov dkwg pot dpeivw éoti Tadta oVtw moteopeva.” dueifetat Kpoioog toiode. “® mat,
ovVte delhinv oVte GAA0 00OV dxapt Tapldwy, Tot motéw TadTa, AAAd pot dyig dveipov év T By
gmotdoa €gn oe OAyoxpoviov EoecBat- HTIO yap aixpig odnpéng drmoléecbat. TPOG AV TNV dytv
TaOTNV TOV T yapov tot TodToV éomevoa Kal €t T mapalapfavopeva 00K ATOTEUTW, PUAAKTV
gxwv, &l kwg Suvaipny émi TAG g oe oG StakAéyat. €ig yap pot Hodvog Tuyxdvelg €V maig:
TOV yap 81 Etepov Ste@Bapuévov v dkonv ovk eivai pot Aoyilopat”

@ matep ... paiveoBal (lines 1—4). Outline Atys’s argument. Quotation of the Greek text
is not required. (4]

OYILG ... StakAéyau (lines 7-10). List two pieces of information revealed in the dream
and state what Croesus is trying to achieve with his arrangements. Support your
answer by quoting the Greek text. [4]

SepBappévov tnv axonv (line 11). Define this expression and state how it might relate

to other information given by Herodotus about this son of Croesus. [2]
List two examples of Herodotus’s lonic dialect and their Attic equivalents. [2]
Translate pog @v ... dtakAéyau (lines 8—10). [3]

Turn over



Option C: Tragedy

Extract 5

(d)

(e)
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Sophocles, Electra 558-576

560

565

570

575

HA.

Kal O Aéyw oot matépa QNG KTeval. Tig av
TOUTOL AOYOG yévolt’ &v aioyiov &ti,

elt’ ovv Sikaiwg eite un; AMé§w 8¢ oot

wg ov dikn y’ €ktetvag, AANG o’ Eomaoev
neldw kakod Tpog avopag, @ Tavov Ehvel.
¢pod 8¢ TNV Kuvayov ApTtelty, Tivog

Tovag T oA tvedpat’ €0’ €v ADAISL
1 ‘YO @pdow- keivng yap ov Béug padeiv.
nathp o0’ oLUdG, WG Yy KAV, Oedg
nailwv kat’ &\oog é§exivnoev modotv
OTIKTOV KEPATTNY ENAPOV, 0D KATA OPAYAG
EKKOUTIAoAG ETOG TL TVYXAVEL PaAAWV.

KAk To0de punvicaca Antoa Kopn

Katelx’ Axatovg, wg mathp avtiotaduov
ToD Onpog éxBvoeLe TV abTOD KOPNV.

@8’ v & kelvng Bvpat’- od yap nv Aoig
AN otpat® mpog oikov ovd’ eig TAtov.
avO’ @v, BlacBeig TOAG KAVTIBAG, HOALG
g€0voev avTny, ovXi Mevélew xdptv.

@8’ v ... xapw (lines 573-576). List four expressions in Greek with which Electra
tries to diminish her father’s culpability in the sacrifice of Iphigenia and give their
English translation or paraphrasis or explanation.

Give two epithets of Artemis, in Greek and their literal English translation.

¢v AOAiSL (line 564): Locate this place with one precise geographical reference and

[4]

[2]

explain why the Greeks were there.

[3]

Ae€w ... EVvel (lines 560-562). Explain, giving three reasons taken from the extract,
why Electra thinks Clytemnestra killed her husband. Support your answer by quoting

the Greek text.

Translate ¢pod ... pabetv (lines 563-565).

[3]

[3]
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Option C: Tragedy

Extract 6 Sophocles, Electra 660-679

660 TIIAL &Evau yvvaikeg, g &v eideiny capig
el ToD Tupdvvov dwpat’ AiyioBov tade;
XO. 148’ éotiv, @ &V’ adTOG fraocag KAA®DG.
ITAL 7 kai dapapta TV’ Emekdlwy Kupd
KELVOUL; TIPETEL YAP WG TOPAVVOG EICOPAV.
665 XO. pdMota mavtwv- {de oot keivn mapa.
[TAL. @ xaip’, &vacoa- 0ol PEépwV fikw Adyovg
110€ig @idov map” avdpog AlyicBw 0 opod.
KAY. ¢€8e§aunv 10 pndév: eidéval §¢ oov
MpwTIoTA XpNlw Tig 07 dméotellev PpoT@V.
670 IIAL ®avotevg 0 Pwkevg, TPAYHA TTOPOVVWYV PEYA.
KAY. 10 molov, ® &&v’; eimé: mapd gilov yap dv
avdpog, 0d@’ oida, TpooPleig Aé€elg Aoyoug.
ITAL.  1€0vnk’ 'Opéotng: év Ppayel Euvleig Aéyw.
HA. ol ‘yo tédhawv’, Shwha TS év fipépa.
675 KAY. Tti@ng, tiong @ Eelve; pr) Tadtng KAve.
ITAL.  Bavovt’ Opéotnv viv Te Kal dAat Aéyw.
HA.  anwlouny dvotnvog, ovdev iy’ €Tt
KAY. o0 pév 1a oautiig mpdoao’, éuot 8¢ ov, E€ve,
TAAN0EG eimé, 1@ TpoOTW StoAALTAL

6. (a) Write outand scan &€vat yvvaikeg ... tade (lines 660-661). Indicate elisions
where necessary. [2]

(b) Describe how the Paedagogus tries to gain Clytemnestra’s favour before telling the
news. Quotation of the Greek text is not required. [4]

(c) List three stylistic features used in this extract. Support your answer by quoting the
Greek text. [3]

(d) Davotevg 6 Dwkevg (line 670). State who Phanoteus is and give two reasons why the
Paedagogus claims Phanoteus sent him. [3]

(e) Translate anwAouny ... Stodvtay; (lines 677-679). [3]

Turn over



Option D: Agon

Extract 7

(c)

(d)

(e)
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Sophocles, Antigone 411-431

QY.

415

420

425

430

kaOnued’ dkpwv ék maywv LrvepoL,
oounv an’ adtod pr Balot Te@evyoTes,
gyepTi KIV@OV avdp’ avip émppoboig
Kakoiowy, €l Tig Todd” akndnoot TovVov.
Xpovov 1ad’ fv tocodToV, £0T’ év aibépt
HEow KaTEOTN Aapmpog fAiov kOKAOG
Kai kadp” €0alme: kai o1 é€aipvng x0ovog
TVPWG AElpag OKNTTOV 0VPAVIOV YOG,
nipmAnot mediov, mdoav aikifwv @opnv
VAnG mediadog, €v 8’ éueotwdn uéyag
aibnp- poavteg & eixopev Beiav vooov.
Kal To08” AmalAay£vTog €v Xpovw pHakp®,
1] aig OpaTal, KAVAKWKUEL TUKPAG
SpviBog 0&Vv eBOYYOV, £G GTav Kevig
gVVAG veooo®V Opavov PAéyn Aéxog.
oVtw 8¢ XadTtn, YIAOV WG Opd VEKLY,
yootow Edpwéev, €k 8 dpag Kakag
fpdto toiot Tovpyov EEelpyacuévolg.

Kai xepotv ev0LG duyiav épet kOVLY,

€K T’ eDKPOTNHTOL YaAkéag dpdny TpoXoL
X0aioL TPLOTIOVAOLOL TOV VEKLV OTEPEL.

Write out and scan kafnped’ ... mepevyoteg (lines 411-412). Indicate elisions

where necessary.

[2]

£yepti ... vooov (lines 413—-421). Describe how the guard’s account builds a sense of
tension and expectation. Support your answer by quoting four expressions from the

Greek text. [4]
VPG ... 1edladog (lines 418—420). Describe three effects of the whirlwind. Support

your answer by quoting the Greek text. [3]
1 mais ... e&opwéev (lines 423—427). Outline the comparison between Antigone and the

bird. Support your answer by quoting the Greek text. [4]

Outline the two ritual elements of Antigone’s burial of her brother. Support your answer
by quoting the Greek text. [2]
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Option D: Agon

Extract 8 Lysias, On the Murder of Eratosthenes 16—18

10

(d)
(e)

‘0 yap avip 6 VPpilwv eig 0¢ kal TNV ofv yuvaika €X0pog DV NUIv TVYXAVeL €&v o0V AaPng TNV
Bepamatvav v eig ayopav Padifovoav kai Staxovodoav VUiV kal Bacaviong, dravta revon.
€01t &’ €pn’EpatocBévng Onbev 6 tadta mpdttwy, 6G o0 ndvov Ty ofyv yuvaika Sié@Bapkev
AN kot GANaG TOANAG: Tav TV yap Ty TEXVNVY éxel’ TabTa eimodoa, @ dvOpeg, Exeivn HEV
ArAAGyn, €yw 8’ e00éwG ETapaTTOUNY, Kai TTAVTA HOV €iG TNV YVWUNY elofeL, Kal HEOTOG T
vroyiag, €vOvpoduevog pev wg anekAodny év 1@ dwuatiw, dvappvnokopuevog 6¢ 6Tt €v

gKeivn) T VOKTL EWogel 1] péTavdog Bvpa kai 1) abAelog, 6 ovdénote éyéveto, £00&E T¢ pot 1} yovn
EYpuBidoBat. TadTd pov mavTa eig TV yvwuny eionel, Kal peotog 1 voyiag. EABwv 8¢ oikade
ékélevov akolovBelv pot TNy Bepamatvay eig v ayopdy, dyayav 8’ adTnv wg @V émndeiwv
Tva EAeyov TL Eyw TTAvVTA €V TEMVOUEVOG TA Yy vopeva €V Tfj oikiq- ‘0ol ovv’ E@nv ‘€Eeott Svolv
omotepov PovAet EAéaBal, T paotiywbeioay eig polwva éuneoeiv kai pndénote mavoaoHal kakoig
TOLOVTOLG GLVEXOUEVNY, T} Katetmodoav dmavta TaAn0f undev mabelv kakov.

VBpilwv (line 1). State the two different meanings of this word with reference to
Euphiletus and his wife. [2]

Describe the structure of the Athenian house from the evidence presented in the
extract. Support your answer by quoting the Greek text. [4]

gypuBiwobou (line 8). Define this term and explain why Euphiletus thinks this detail
is suspicious. [3]

Translate é\Owv ... oikiq (lines 8—10). [3]

Describe the punishments with which Euphiletus threatens his slave. Support your
answer by quoting the Greek text. [3]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, De aere aquis et locis 4

10

(d)

(e)

OKOoaL 8 AVTIKEOVTAL TOVTWV TIPOG TA TTVELHATA TA YLXPA TA HETAED TOV SUOpEWY TOV Beptvdv
10D NAlov kal Tfig dvatolilg Tig Bepivii, kail adTfiot Tadta Ta TvevpaTa EMXWPLA E0TL, TOD O€
VOTOU Kal TV BeppdV TVELHATWY OKETT, @OE EXeL TTEPL TOV TOANIWY TOVTWV- TPAOTOV UEV TA
Voata okAnpd te kal Yyoxpa ¢ émt 1o TAR00g éyyivetat. Tovg 8¢ dvBpwmovg edTOVOLG TE Kal
OKeALPPOLG AvAyKn eival, TOVG Te TAEIOVG TAG KOLALAG ATEPAUVOVG EXELY Kol OKANPAG TAG KATW,
TaG 8¢ dvw evpowTépag: xolwdedag te HaAov 1j Aeypatiog eivat. TG 8¢ kepahag Lypag €xovat
Kal okAnpag- priypatiat t€ eiotv €mi 10 TAR00G. vooevpata 8¢ avtoioty émdnpel Tdde- mAevpitidég
Te ToANai af te O&etat vopulopevat vodoot. avaykn 8¢ @de €xety, OkoTav ai kothiat okAnpai éwoty-
gumvoi te TOAAOL yivovTal Amd AT TPOPAGLOG. TOVTOL 8¢ alTIOV €0TL TOD CWNATOG 1) EVTAOLG
Kai 1) OKANpOTNG TG KOAinG. 1 yap Enpodtng pnypatiag motel eivat kat Tod Hdatog 1 YyuxpoTNG.
€0wdovg 8¢ dvaykn Tag TolawTag VoG elval Kai o0 ToAVTOTAG: 00 yap oilov Te dpa ToAvBopovg
Te eivat Kal TOAVTTOTAG:

okooal ... moAiwv tovtwv (lines 1-3). Describe how the cities mentioned in this extract
are affected by the different winds. Support your answer by quoting the Greek text. [4]

pnypatiat ... mpogaotog (lines 7-9). List any three diseases mentioned in the extract.
Support your answer by quoting the Greek text. [3]

List two instances where Hippocrates expresses the idea of a strong causal
relationship between existing conditions and diseases. Support your answer by
quoting the Greek text. [2]

Identify two words or expressions in the Greek text that express the correlation
between certain physical features or human diseases and certain regions, and state
their literal meaning. [4]

List two examples of Hippocrates’s lonic dialect with their Attic equivalents. [2]
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Option F: Scientific knowledge

Extract 10 Hippocrates, De aere aquis et locis 6

10.

10

(@)

(d)

(e)

okooat 8¢ pog TG dvotag KelvTal Kai avTfotv €0TL OKET TOV TVEVHATWY TOV ATO TG NODG
TVEOVTWV Td Te Beppd mvedpata mapappel Kal T& Yuxpa Ao TOV ApKTWY, AvayKn TadTag TAG
noAag B¢otv keiobat vooepwtdatny. mp@dTOV pHEV yap Ta Vdata ov Aapmpd- aitiov 8¢, 6Tt 6 N1
T0 £wBIVOV KaTéxel WG Tl TO TTOAY, G0TIG TO VSTt EyKaTaptyvOUEVOG TO Aaumpov agavilet- 6
yap fiktog mpiv dvw apBijvat ovk émhdaumnel. Tod 8¢ B¢peog Ewbev pgv avpat Yyuxpai Tvéovat

Kal dpdoot mimtovot: 10 8¢ Aowmov fjAtog Eykatadvvwy @oTe pahiota SLEyel Tovg aAvBpwmovg,
810 Kal &xpoovg Te €ikOG eival Kal APPWOTOVG, TOV Te VOOEVHUATWY TIAVTWYV HETEXELY UEPOG TOV
TIPOELPTUEVWV- OVOEY Yap avTOIG dToKEKpLTAL. PapuewVovg Te eikog eivat kal Bpayxwdeag St
TOV fépa, 6Tt akaBapTog WG €mi TO TOAL avToOL yivetal kai voowdng: ovte yap v1o TdV Bopeiwv
gKKpiveTal opodpa- o yap mpoo€xovol Td Tvedpata: & Te TPOoEXOVOLY AVTOIOL Kal TTPOOKELVTAL
0atelvoOTaTd E0TLv- émel TotadTa TA Ao TAG £0TEPNG TVEVHATA: E0IKEV TE HETOTIWPW UAALOTA 1)
0¢016 1} ToladTn TRHG TOALOG KATA TAG TAG NUEPNG UETABOAAS.

Béowv keloOat vooegpwtdtny (line 3). List four reasons why the cities with this
orientation are reputed to be “extremely unhealthy”. Support your answer by quoting
the Greek text. [4]

aitiov 8¢ ... émAaunet (lines 3-5). Outline the four stages of the natural process
which makes the waters of these locations “not clear”. Quotation of the Greek text is
not required. [4]

State two characteristics of the northern winds. Support your answer by quoting the
Greek text. [2]

810 ... voowdng (lines 7-9). Outline two causes of the unhealthy constitution of the
inhabitants of these cities. Quotation of the Greek text is not required. [2]

Translate papvewvovg ... opodpa (lines 8—10). [3]




